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?~&\/&r7 chus}mé Ovep Uf
fr, M Ay .. X A,/\

T CName (sort to remove duplicates)

=1 block nested—loop join

get tuples for tjdV Py pFFPCw
e QID lj
<1 index—nested loop join =) \’j
Price > 5000
pgsli \@ﬁ full t:ble scan % SCan
L(CName, CUSTOMERS) I(CName. ORDERS) og]aﬁs oTFCe C 13 ﬁl’;“‘ %
L Chear
Lost Update A = 100D
Time | Transaction T} | Transaction 7%
— —
1 read(Ax) wos [/L . . < |300
2 x:=x+200 /
3 /read(A.y) oo ™ T = 1300
4 y:=y+100 ,,, 2
5 write(x,A) - .
6 | 100 write(y,A) ||, | [/ JZ = [10D
7 commit 1
8 commit -
9 reah (™9

The update performed by T} gets lost; possible solution: T

locks/unlocks database object A
=— T5 cannot read A while A is modified by T}




Inconsistent Analysis (Incorrect Summary Problem)

Time | Transaction T} Transaction Ts
1 read(Ay1)

2 10 read(A x1)

3 x1 :=x1 - 100
4 write(x1, A},
5 read(C,x2) 150
6 X2 1= x2+xl 1y,
7 write(x2,C)

8 commit

9 read(B,y2) 120

10 read(C,y3) o

11 sum =yl + y2 + y3

12 commit

In this schedule, the total computed by T7 is wrong (off by 100).
= T must lock/unlock several db objects

Problem 7 (Transaction Processing) (12 Points) [
a. Assume the following two schedules: ho C7c[€ .

- l

) 1) (1) T = 0K

@ I sendindle
e///jiD

@WVALU:J: ;ui«i schaolule

(3)To ;13 ;12

Tead(A)

/‘read(A)

‘S\vrite(A) 1‘ead(Ay .

74
write(A) F—7 N

Nwrite(A)

(i) Draw the precedence graph for each schedule!
(if) Which of the two schedules is conflict-serializable?
(iii) For each serializable schedule, give an equivalent serial schedule.

Prcedun (c)

N Ty ¢ reead (i)
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